Intermediate 1 Units 1& 2


3B3 Revision Units 1 & 2

Show all working.










     50 marks

Q1.
Calculate 
(a) 90% of £480

(b) (-2) x 8

(c) –6 –(-4)


      [5]

Q2.
One morning the temperature in Fraserburgh was 3 0C by 11am the temperature 

had dropped by 7 0C, 2 hours later the temperature had risen by 2 0C. 

What was the temperature at 1 pm?
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Q3.
This music system costs £79.90 before VAT is added.

V.A.T. is charged at 17(5%. 

(a)  Calculate the V.A.T. Round your answer to the nearest 1p.


(b)  Calculate the price including V.A.T.
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Calculate the area of the shape 

shown in the diagram.
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Q5.
The drum shown has a diameter of 24 cm. 

Calculate, correct to two decimal places:-

 (a)
the circumference of the top
(b)
the area of the top.



      [4] 

[image: image4.wmf] 


Q6.
An aeroplane flies at 530 miles per hour for 45 minutes.


Calculate the distance it has travelled.
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Q7.





A bus leaves the bus station in Elgin at 9.30 am. 







It arrives in Aberdeen, a distance of 67 miles, at 11 am.







Calculate its average speed. 

Round your answer to 1 decimal place.
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Q8. 
 A carton of juice measures 15 cm by 6 cm by 20 cm.


(a)  Calculate the volume of juice in a full carton.


(b)  Given 1 cm3 = 1 ml, how many litres 
      does the carton hold?
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Q9.
The graph shows Craig’s journey from 


Miniville to Beetleton a distance of 70 miles.

The graph also shows Jordan’s journey 

from Beetleton to Miniville.




(a)
(i)   At what time are the boys the same distance away from Miniville?


(ii)  How far away are they?

(b)
How long does Craig stop for? 

(c)
At 10.30am how far away from Beetleton is Jordan?

(d)   
Calculate Craig’s average speed for the whole journey, (from when he leaves

        
Miniville until he arrives in Beetleton). Round your answer to 1 decimal place.
(e)   
Calculate Jordan’s average speed for the whole journey.
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Q10.
A rectangular jigsaw measures 60 cm in length 

and 75 cm diagonally.


(a)  Calculate the breadth of the jigsaw.

Chloe wants to make the jigsaw on a rectangular

 
table that measures 65 cm by 50 cm.

(b)  Will the jigsaw fit on to Chloe’s table?


       Give a reason for your answer.
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Q11.
The diagram shows a sign for the 

Mathematics Department. 

The shape is called a trapezium.

The sloping edges are the same length. 

(a)  Calculate the length of one 

      of the sloping edges.

(b)  Calculate the perimeter of the trapezium.
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END OF QUESTION PAPER
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